2020—2021 224EE F — 22 BB A&
INFRHFSEER

R Giligr 30 43D

1.D2.C 3C 4A 5A 6C 7.D &B 9B 10.D

Hy=—2x+2 12x=—3 13(=2-2) 14431 152Y3 16x>3, Hx=4
3
173 18.b—2¢
=L B Gl 66 43D

19. Gii7r 8 70) fif: AHEEES: (0,0,0,60,0,@-} (293

THEES: (9,0,0,0.....) 45
ESHES: (0©96,6, @ @, @ } (643
BHES: {(D,6,.....} (843

20, G4y 1449 s (1) Jik= (8V3 — 9v3) + V6 =— V3 + 6 =— 2. 440

2

fi: (2) = 4v3-2V3+32
=2V3 +3V2; 44
(3) fif#: Ji=4x* — 4xy + y* + y* — 4x* — y* + 3xy
=y2—xy. (491
x=2+V3y=2—V3LAH
(2-V3) - (2+V3)(2-3)

=4—-4V3+3—-4+3

=6—43. (643 D 4
21. Gii%r 10 43 fi#. % BD,
v LA =90°, B
. BD? = AD? + AB? =100, C

R A HERE B G300



W BD?2 4+ CD? =100+ 576 = 676 = 262 = BC%, [Xt2CBD = 90°, (841

1 1 1 1
S sy apep = Snaps + Sacep = 7AD - AB+2BD - CD = —X 6 X 8+-X 24 X 10 = 144.

HOX P HU AR Y 144.. (10 43
22, G4y 10 %) fi#: (1)~ a~ by citila— V7| +Vb -5+ (c — 4V2)2 = 0.
2 la=V71=0, Vvb=5=0, (c—4v2)*=0.
fitif3: a=+7, b=5, c=4V2; (541
(2)va=+vV7 b=5, c=42,
wa+b=vV7+5>4V2,
“las by e LB R = SIE,
a4+ b =72 +52=32=(42)?=c%
=M E A=Y,
.-.SA=%><\/7><5=52£. (10 41
23, Gy 1273 fif: (DR BAER A WAL, —14+3=2,
MOBAERAWNAIARS, —1 -3 =—4, 443
FTEL, B HIARKE K (2,0)54( — 4,0):
.“A_

A

¥

(Z)AABCEI"J@E{=%X3><4=6; (849
(3) B P 3 x FIEE S A A,

JEEH A AR B2 G300



> x 3h = 10,

#15 h ==,

$ P AE y BIE R, P0,20),

$P ALy SO, PO, -2,

g A, AP IAREE N (0,5)ER(0, - 3. (1249
24. Gl 1299 fif: (DIEHHIEREy = 22 NS AT Am).

sm=-x2=3,

Mo IRE y =—3x+ b ME S A23).

£3=—2X2+b,

~b=4. (6 73)

(2) KBy =—Sx+ 4 WAL x HA T 4B,

» B(8,0),

:-SAAOB=%><8><3=12. (1249

JEERH A AR B3 G300



